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QUESTION 1

The TESTDB container database (CDB) running in ARCHIVELOG mode contains two pluggable 

databases (PDBs) PDB1 and PDB2. A connect descriptor for TESTDB is mapped to the TNS alias testdb 

in tnsnames.ora. 

The default RMAN configuration is used. 

Examine these commands: 

Which files are backed up? 

A. all root and PDB1 data files, and the CONTROLFILE, SPFILE, and FLASHBACKLOGS 

B. all root and PDB1 data files, and the CONTROLFILE, SPFILE, and ARCHIVELOGS 

C. all root and PDB1 data files, and the CONTROLFILE and SPFILE 

D. all root and PDB1 data files, and the CONTROLFILE, SPFILE, ONLINE REDO LOG FILES, and ARCHIVELOGS 

E. all root and PDB1 data files 

Correct Answer: E 

Reference: https://oracle-base.com/articles/12c/multitenant-rman-backup-recovery-cdb-and-pdb-12cr1 

 

QUESTION 2

Which statement is true about the Automatic Diagnostic Repository (ADR)? 

A. Space used by the ADR can be limited to a user-specified value. 

B. Space used by the ADR is limited based only on the retention period. 

C. The retention period for the ADR is set based on the space limit specified. 

D. When the ADR reaches the space limit, it deletes incident dumps and metadata before deleting old core dumps. 

E. Manual purging of all types of ADR files is allowed. 

Correct Answer: E 

 

QUESTION 3
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In a Database Cloud Service (DBCS) environment, which pre-created user has sudo privileges to run certain root
commands? 

A. grid 

B. oracle 

C. opc 

D. nobody 

E. oinstall 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/iaas/compute-iaas-cloud/stcsg/accessing-oracle-linuxinstance-using-
ssh.html#GUID-D947E2CC-0D4C-43F4-B2A9- A517037D6C11 

 

QUESTION 4

You plan to use Information Lifecycle Management (ILM) for the ORDERS table. 

Which is true about Heat Map statistics when HEAT_MAP is ON? 

A. They are collected for all segments except for those in the SYSTEM and SYSAUX tablespaces, and are stored in the
SYSTEM tablespace. 

B. They are collected for all segments except for those in the SYSTEM and SYSAUX tablespaces, and are stored in the
SYSAUX tablespace. 

C. They are collected for all segments and are stored in the SYSAUX tablespace. 

D. They are collected for all segments and are stored in the SYSTEM tablespace. 

E. They are collected only for the ORDERS table if it has an associated ADO policy. 

Correct Answer: D 

 

QUESTION 5

You create and enable a unified audit policy on a database that has the default auditing configuration. 
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The OE user, who has the DBA role, executes these statements. 

What is true about the SELECT statement and why? 

A. It is audited because unified auditing is disabled be default. 

B. It is audited because, by default, the database is in mixed auditing mode with default policies enabled. 

C. It is audited because, by default, all user activities in the database are audited. 

D. It is not audited because the table belongs to another schema. 

E. It is not audited because audit records are stored only when unified auditing is enabled in the database. 

Correct Answer: C 
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